®iE ER. HIRE

THREHLICEAT2ERAE(E R

E QY ﬁ % 0) *E *'E :I:E‘?):ﬁj "‘ :
xR E S B092112 : A N
: '- =
K %A PG ‘ N A
Al & 2RI R )
E h & FALDOR (3) N A _
i B AL F SR8 ; il ey (M) g
B E R E 07 AR B AR o AR 2 — MU N
; AN | N\
e i - =~ X z \ I‘I\ -.JIJ.
) H P2 A i
ST 7 ey { \l
e \?1"3 ) A * =< _/ - & ¥ Eg;f 174
et 3 >
JESL W . \ a
1&""“" L\“\,::;‘! Ll Pt 3 ", = Al i 1—
T Ty mm{fj ! ]l!ﬂ}:‘-l"l il
170 L S _r\l
A oA . 7] ff
-,\4\- : %} N \"1? : U I 1"-.\ ; l! 2
N \_‘\ P R | ,é": I| ) ,
s | . 284 (oot
B L ow ) b P
i ) 'gij:_,ul / ,—/.ﬁ/ oy
/ P WeTEe L i ]
Soa ; 31 . ; o
o f = = R
._.,'J nﬂnd;]‘ \\‘ ;
Al s ﬁ il | T36e ‘\\.":; ;)
=N ? “"\f\
J_ LS .\ )

— bz -';’;—w N‘;._:;- -’—‘;‘EE‘ Y26 163 Q\ \';'-'." ==
'"\*:.-:T-_.:::,y E g = ._-f T 12 3 \'\'-:.I e
< = 3 W - N 0 500 © 1000m
EOY 7 et a3 ey

AN SEs el S$=1/200, N =
7 PPN AN P CHESHNPE £ St ’ Sl -
Nu o L =
BERE (5-1:200,000 DA (5=1:25,000) BEFE

[ + B2 O B - HI T2 X1 200000 (M ] ]

%) TR | Jo OVFE - Hi T2 1X125000 (i i 45) Tl /gL, i, =l ) 2 fg




T A KRR EH RS
BR3—1 BEDEZTIhOHELH. ZELLVEEDEZLDHE L HDETR BEEE | VHI9EE
EROME | ERES 5092112 ER% | TEHDR (3) [ AR 7E b EEEE
o I 1815 Wiy e
F e
=
-
R
Q ZREL
w—— A2
ATERNEEALRENE
0 ~2* w— 10" =-15°
— QT 15 ~20
— 3~ 20" ~30*
— 7" ) —— Gt -~
1/2,500
e
g 0 50 100m

me i ' —




T ERE B HE

BHX3—2 BEYWIERIIZLEESWIEEICET HEIE REEE | FIRIGELE

®E_ B0t B ERES | B092112 I Ei B [ oK) | mEh | &8 iR s
BEEAsEE] TEROBESNM | TEROREAFIKN/M) |BEDOT AP2KN/m)[HEAGES| TEROEShmM | TEROKEAFIN/M) |BEHOF HP2KN/n)

No.O 0.45 31.68 1514

No.1 0.39 27.95 17.11

No.Z 0.32 21.73 20.54

No.53 0.28 1652 2317

No.4 0.50 14.63 21.588

No.b 031 10.66 21,37

No.6 0.13 1.44 48.34

No.7 0.00 0.00 0.00




